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full marks for the questions.

Answer either in English or in Assamese.

1. Answer the following as directed : 1x8=8
i SR oo fraiee ea B ¢
(i) Which of the following best describes

the structure of International Labour
Organisation ?

ol (PR ORRGE e FgR sfefe
e 39 €0

(@) Unipartite (4We1H)
(b) Bipartite (BiifF=)



(c) Tripartite (R=iifes)

d _ (iii) Which of the following is the first
(d) Quadripartite (vofiee)

organised trade union of India?

(Choose the correct option) o (ICE! OIed A FolfI (FC TR 2
(?}%7 ﬁﬁfﬁzfi‘f R TersT) () Madras Labour Union
(W) Industrial disputes that arise when .

employees believe that their rights have (b) Bharatiya Mazdoor Sabha
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Zienuzif(:ited 01'1 that there has been SIS AGHF el
% applicatio : :
policies is known as :n eticobany , (¢) Hindu Mazdoor Sabha
Cﬂi\')ﬂi m@r{.ﬂ m’m Wﬁw ﬁao\m w ‘?rrl'r.lr‘l"’:‘?":‘ %E\ W W
(R . @R s SR @) tarz I % (d). Indian National Trade Union
RPt = cofom Sw et Somifre R & \ Congress |
TS Sl T 8 Colisge, | ORSHE TG (GO I TR
/S AN (Choose the correct option)
(a) Interest di X P4 e VG
ﬁ lspu S ‘-‘\‘jf.’-u;:«-"'-; }j&:’ (@@ ng ar)
5 \_L%:, (iv) The process of bringing together
(b) Grievance disp‘\-% representatives of employers and
employees in front of a third party with
SSEIAR [am the intention of influencing them to

(c) Recognition dispute
Trgfes Ram
(d) Unfair labour practice disputes
SR & YT fm
(Choose the correct option)

(%% RPmb! AR Ghvear)

reach a mutually agreeable solution is
known as

TR IS IR (DEEIFT el i
sfje|RFeIE e AN TS (A9
AfFRIGIF 3 o |

(a) Collective bargaining

.
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(b) Conciliation
freds =Rl Feofe
(c) Adjudication
o e
(d) Grievance handling
St e st
(Fill in the blank)

(Tt 212 2f54 )

(v) Which of the following are key

participants in the industrial relations
system ?

Employers and their association
st e (odmEra Wiy

(c) Government and its agenéies
DI SN AR FAZITR

(d) All of the above
8T FAHAIER

(Choose the correct option)

(o7 [eseo! A Gea)
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(v)

o

The Unitary approach to industrial
relations views the organization as :

QU A=FT G FRESIE OIS
TS BIF ¢
(a) A battlefield of conflicting interests
cqres) FifE garEa
(b) A platform for class struggle
(AT RIS W<

(c) A cohesive team with a common
goal

G OIS TH(E TS el

238 (d) A network of independent

contrz_ictors
oy FFMaT @6l 63
5/ (Choose the correct option)

(e et T1& GoT)

A is a temporary work stoppage
by a group of employees to express
grievances or enforce demands.

(Fill in the blank with appropriate word)

20 FRIE |5l W Serdle a
et 1 Wi RS FIRACE AP A TR
| (G W e A2 2479 )
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(viii) Employee participation in management

decreases industrial harmony.
(State whether the statement is True or
False) :

AfRbIEe FHRE wiHleRd Smibe T
29 FE | (Cf&Co! 577 (& Trey fa0h)

Answer the following questions : (any six)
2x6=12
oo [MAERS A91 Riepiean gh/9 Ted oy ¢

(i) Define industrial relations.

ST i el |

(i) What is mediation ?
SggFe 52

- (iv) Discuss any two problems faced by
trade union in India. ‘

W&ﬁﬁﬂ%ﬁ%ﬂqﬁq@mﬁm@ﬁ
S I /4
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(v) Define the term ‘Grievance Handling'.

wfeis Fager= e |

(vi) What are the objectives of collective

bargaining ?

AR @M o /52

(vii) What are the characteri

union ?

=il eeq A [ e

5 i 2

(ix) What is meant by Employers’

Association ?

s sy e & @

(x) Differentiate between Award and

Settlement.

WWW@W?HW%W

Contd.



3. Answer the following questions : (any four)

9x4=20

et fral ePTEs ©ed ol o (gt b1fab))

(1)

Differentiate between strikes and

lockouts.

aﬁﬁﬁvmsiaﬁs$§SWEasﬁﬁ%}ﬁhﬂl

~ Describe the types of arbitration.

AferTe e Ra = 41|

Discuss the Various forms of workers’

JXE?KHQMUﬁBﬂTﬂﬁﬁI

Explain the factors affecting Industrial
Relations.

@@ﬂﬁﬁﬁsvbﬁssﬁ@ﬁ%sﬁﬁﬁawssﬂqiamﬂn
3491 |
(v)] Explain the different types of trade
unions.
fafeq q9eq «fiis kew FEe @Ema 54 |
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(v} Write a short note on International
Labour Organisation.

OIEAIGR HfEE 7T 8oFe by (il &7l |

(vii) Discuss the impact of technological
changes on industrial relations.

SIS i eigfeTs ~Rae o Ra
NBicimiEal

: (any two)
10%x2=20

vﬁﬁsﬁhneﬁﬁﬂiﬁﬁﬁ?iﬁ*ﬂg (Rt 7oy

(i) Explain the different types of strikes.
Analyse the causes of strikes and
lockouts in industrial settings.

| | 5+5=10
fifoq w9 wiEoe [RIw@ It 51t | S
S{fSee E0 S eI e Rosget w4 |
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(i) Define industrial disputes. Discuss the
various methods of settlement of
industrial disputes. 2+8=10

it G kel Tl | o Ram Feifes
fifen smfes [REcy Itenal 1|

(i) What is meant by grievance in
industrial relations? Identify the
primary causes that lead to grievances

Al LQR among workers. Describe the grievance

‘_

;f’{f‘ o 7 QQ@dressal process followed in Indian
(& 7 ‘f dustries. 2+3+5=10

R
oheki

Fois Sifels IETE @ el 2 2
M e s wieclE FfE (RRI lE
| FRPTR AT 1 | SIS SIEPTRS RS
5 <41 wfeis g efeam Faw o 41

(iv) Discuss the evolution of industrial
relations in India before and after
independence.

FIRTO A i Pras sives Srgifie T3
a4 JaE DA 4 |

v) Elumdate the concept of collective
dzrgammg as a tool of industrial
Mocracy. Elaborate on the various

types .Of collective bargaining.

3+7=10

B 4
06FN 004 10

&Wﬁmmmﬁwﬁw

R el TR A
5
S
&
&
okl ARLIRY. )
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